Name: Block: _ Date:
SOL Review Sheet

ecord your answers in the blanks provided and attach work on a separate sheet (with problems numbered).
1. The first transition metal with the lowest atomic number is in period 5

; S ! ~
2. Elements in the same period have %naa of LNRAGA U't{%lements in the same group have SmY ok v QL e

One mole of Ps would have a mass of 19435 grams.

3
4. Asthe temperature increases the solubility of a gas in a liquid @_L{_E_@;#AJ .
5

Name the following:

NaBr _Std um \om.m;ﬁrl NHJCl_ Qnmnengn Chloode) %’5&
Ca(NO;); Lot nidvadt K:SOs _POYASSikm 5 el )
HCIO; (ag) _DNIDG\L Otadd Fecl; __ oo (AT Cordd

6. 2moleof AlCl; = \33 33 grams

7. Alkali metals will react with another (metal,-ggigge;\:} noble gas)? Circle one

8. What causes compounds to have a high heat of vaporization? {size of molecules, mass of molecules or the

\‘strength of |nterm01ecular forces between the molecules)>

9. Nitrogen coIlected over water at 20°C has a pressure of 765 mmHg, if the total pressure is 771 mmHg, what is
-T6LS
the partial pressure of the water vapor? 0 mmm PH"] 7

< X =
10. What is the full electron configuration for phosphorous? o 1522?‘- 35* 3'?

. 11. What is the Lewis Dot Diagram for sulfur? g o L e OO
12. How many calories of heat energy are required to heat 95.0 g of water from 0.0°C to 40.0°C? t ) S5BH9x b
13. How many significant figures are in the number 0.0025607 4

14. How do you recognize a double replacement reaction? 2 Cbmpt;wx&i{ Lti_}“‘l(),(_}%g_._ eols

15. How do you find a precipitate? LT 1S s _?(DE’LLJ. tk Yok B NOT Colwale Lﬂ_H:,D
16. What is the total pressure of a gas made up of 3.0 kPa N; and 4.0 kPa 0;? 1.0 ikfa

17. If the Lewis Dot Diagram of a molecule is :N=N: what is the shape? ML{

18. For question #18 what is the type of bond present? _ FJ’LJL@-Q \vong , Y\Dﬁ-gﬂkf caodent

19. When a gas condenses is heat being released or absorbed? _ { £AVOLL

20. [OH] = 1.0 x 10* What is the pH? L9

21. What does “like dissolves like” mean? _QD\O.\’ sy D0y '{35‘0“(, Y\CY‘L{}O\M d.llfb‘)\"ﬂ Y\_QQ_PO]C‘(
22. Would a nonpolar molecule dissolve in water or dq organic solvent? )

23. Name three naturally occurring polymers: NQ_LLL.JLL Noad, Emﬁ QMbD "LLI.LI(O—LD L tfl()i
24. NH4OH: how many elements? __3_ how many atoms? 1 how many ions? 2

25. Bohr's atomic theory added: & E".KL§~3___ \P\I‘E)S Rutherford’s atomic theory added: MQHS

. 26. Using R=8.31 L kPa/mol K solve for moles given: 150.0 kPa, 50.0°C, and 50.0L  A. 1% el

27. What is the percentage of iron in Fe,05? _ 1pA A l.Fe ) 5697

28. Nuclides: Boron-10 19.78% abundance and Boron-11 80.22% abundance. Determine the average atomic mass.
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What are the two products of a neutralization reaction? U*IQ/W and f-_‘[}f '3 ¥

If a balloon is placed in ice water what wil! happen to its volume? Ow (’,QSE

If Ca bonds with Cl what type of bond forms? _ ULU 32 _ ) .

What type of bond exists in a diatomic molecule? ﬂoﬂp ';).D.-( Crnlp Nt

Explain equilibrium: __ LT o} Splude l_j_{Y')uﬂ[j ot of Roln = Q,N}& D intd
. " ) Sofn.

Isotopes vary in the number of: _{ VLT _lons vary in the number of: _E\ecdoan

If you need 150.0 ml of a 4.00 M HCI, how much 12.0 M HCl would be needed? 50.0me

Colligative properties depend on? _ Numines OF 1;..‘}054:1 L Chnods o Ct,_ 7 whon SiAwSTonw
. o
Which would have the strongest intermolecular attractions? KCl, CaCIz,(l\_l‘l-Eor Hl {circle one) & >

T
If 15.5 g of a hydrate is heated and then has a mass of 10.0 g what was its percent water? 5% watey”

What element has the largest radius? F{ the smallest radius? _!'j:
What element has the highest ionization energy? lti the lowest ionization energy? &_
What element has the highest electronegativity? ¥ the lowest electronegativity? F_\/_

What happens to atomic radius as you go down a group on the periodic table? __‘1 - YOWLOEDOEN Why?

VL RO mﬁl T'k\ DF _ ‘p_f‘-‘&(‘c;ﬁgk \—’F’ VAR

Most reactive metal? EC Most reactive non-metal? _© What group of elements are unreactive? ?/\D\oLL %Q/)f{:

The majority of the elements on the periodic table are;solid--'ﬁquid gas¢ metab>semimetal non-metal (circle 2)

~ K pILbn Suecc
What is a catalyst? Sl BNl 4o Pduten Yo CQ-}{ AR ey U How does its usk affect th

need for activation energy? |ncrea§_et_d_e__c_reasé"r}r does not change " the amount needed. {Circle your answer)
If your reaction had a yield of 45.0g and the theoretical yield was 60.0 g, determine the percent yield and the

percenterror. 15,0 _ %yield 2%.0 % error

Manganese can have multiple charges, what is the charge of Mn in the compound MnCls? 4

What is the molar mass of NO;? 4,01 Determine the density of NO- {g) at STP. _ 2 DS S r':lf .
Ca® How many protons? & Electrons? ﬁ Neutrons?a?_D_ Atomic number? ﬁ_@

For question number 51 what caused the calcium atom to become a 2+ ion? 05N _':}{-* -

OS] =
Aadi< . 305 F , ==
If 450.0 ml of a gas at 23%C is heated to 32‘{C, what is the new volume? 4&)77/3,‘ — 40 I‘NQ-

If 250.0 ml of a gas at 100.9 kPa is pressurized to 102.6 kPa, what would the new volume he? G?"/g-?/?LP i
How many moles are in 400.0 g of CaC0O5? 3.9949 VAl

2 H, (g) + 02 (g) > 2 H20 (g} If 37.4 g of oxygen gas react, how many liters of water vapor are produced? e
425kg= 0.425 g 235em=0.0235m 0299 L=_299x0
If 2 elements combined with element X in the same ratio, they must both have the same gal 0'?_\{0\%:1“._7 g £ .

How many atoms of sulfur are in 46.5 g of sulfur? 3 373»(/;;“‘3_0Lr s

How many moles of CuSOs are in 0.350 Lof a 1.60 M solution? O_ ’:-g(a Dmu» (

Balance the following equation: £ P05 “’f_ P+ _S_ 02 {g) .

If the frequency of light increases, the wavelength of the light A0 4 ¢ gaesand the energy _ g,.!a W rbaaed .
Ethane, an organic compound, has the formula C') Hrf':. and(figaturated or unsaturated?




